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1 (fgArea = NA)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['1I", "lopt’], ['T", "Topt’], ['RH’, "RHopt’], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',

"PHO:g—o’ ]]
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Trend plot forP3-13 0
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P3-13

FriE) | BRI (FD) | ERE (EH/4) | BEBREE (B/R) |[XKS R

07:45 300 150.0 2.888 BE| FHAe07:45 REFEF (REAEHE)
08:25 300 150.0 2. 888 RS ThHA@O8:25 KENFEF (KAfEEEER)
09:05 300 150.0 2. 888 RS FmHA@O9:05 KENFEF (kA{EEIER)
09:45 300 150.0 2.888 Ag| FHA@09:45 KENFEF (KAERER)
10:30 300 150.0 2. 888 RS ThEA@10:30 KENIEF (CRAFEER)
11:10 300 150.0 2. 888 B FHFe11:10 REBF (REERSE)
11:50 300 150.0 2.888 RS FhHA@11:50 KENFEF (CRAfEEER)
12:25 300 150.0 2.888 RS ThHAe12:25 kENFEF (CRAMEEER)
13:00 300 150.0 2.888 AE| FHA@13:00 REFEF (RAHERS)
13:40 300 150.0 2.888 B FhHA@13:40 KENFEF (RA{REEE)
14:20 300 150.0 2. 888 Be| TiHfe14:20 REEF (KRAEZREE)
15:00 300 150.0 2. 888 B5| TiHAe15:00 KENFEFF (RAfEREE)
15:45 300 150.0 2.888 B FmHA@15:45 KENFEF (RAIEEEE)
16:40 300 150.0 2.888 Be| TiHHe16:40 REFTEF (KAEZRE)
21t 4200.0 (14)%) 2100.0 32 #%EC: 2080.0, PH: 5.8

[B&REC 6343.0 K5, iU F{KECAE:&Pi%ER
FERECE (1820. 0 vs 6343.0) 145
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P3-13

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:30 283 150.0 2.888 B 1Ri%e07:30 Bah (REEESE)
08:05 283 150.0 2.888 |Z=| {Ri%e08:05 Bz (KREERHE)
08:40 283 150.0 2.888 |Z=| {Ri%e08:40 Bz (KREERESE)
09:15 283 150.0 2.888 FA| 1BRi%@09:15 B (FkAERSE)
09:50 283 150.0 2. 888 FH| 1Ri&@09:50 B (KAHEREE)
10:25 283 150.0 2.888 FH| 1Bi&@10:25 Bzh (RAEREE)
11:00 283 150.0 2.888 FA| {Ri&e11:00 Bzl (GRAEESE)
11:35 283 150.0 2.888 FA| {Ri&e11:35 Bz (GRAEEE)
12:15 283 150.0 2. 888 FH| 1Ri%e12:15 Bzh (kBERSE)
12:55 283 150.0 2.888 FA| {Ri&e12:55 Bzl (GkAEEE)
13:35 283 150.0 2.888 |Z=| {Ri%e13:35 Bz (REAEZEHE)
14:10 283 150.0 2.888 |Z=| {Rige14:10 Bz (REAEBE)
14:55 283 150.0 2.888 |&Z=| {Ri%e14:55 Bz (REEHE)
15:55 283 150.0 2.888 |Z=| {Ri&e15:55 Bz (REAEHE)
17:00 283 150.0 2.888 |Z=| {Ri&e17:00 Bz (KREAEHE)
Bit| 4245.0 (15%%) 2250.0 3 WUFHKEC: 2080.0, PH: 5.8

FERRNEREEFEEART (184.0 : 139.0), AgEHF—RE XAHS
ZRIAEBRERE139. 0 ml.

[E&EC 5983.0 K5, #iXF{KECAE & HikER

FHERECE (1773.0 vs 5983.0) 15
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—o— ME

i

810 815 820

400 600 800

1000

37.

37.

37.

37.

36.

38.

38.

38.

37.

37.

38.

38.

37.

37.

37.

37.

52.

51.

51.

50. 5

50.0

49.

m=485, FV0=0

——

450 455
m=660,n FV0=0

——

6é5 6%0
m=855,n FV0=0

860 865

m=420,n FV0=0
455 4é0

37.

37.

37.

37.

36.

38.

38.

37.

37.

37.

37.

38. 4 -

38. 2 A

38.0 -

37.8 -

37.6 A

37. 4 -

52.

52.

51.

51.

51.

51.

m=530, FV0=0

75 -

50

25 A

00 -

75 A

550 5%5 5é0
m=705,n FV0=0

25 A

00 -

75 A

50

25

00 -

705 7i0 7%5
m=900,n FV0=0

960 965 9%0
m=485,n FV0=0

25 A

00 -

75 -

50

25

00 -

- MW

i

485 490 495




48.

48.

47.

47.

46.

46.

53.

53.

52.

52.

51.

54.

53.

53.

52.

m=590, FV0=0

—0—

M_W

550

5%5
m=705,n FV0=0

T
560

—— MW

705

710
m=900,n FV0=0

T
715

—— MW

900

905

910

m=595, FV0=0

48. 75 A

48. 50 A

48. 25 ~

48. 00

47.75 A

47.50 A

—0—

M_w

595

660 665
m=760,n FV0=0

53.0 A

52.5 A

52.0 -

51.5 -

51.0 A

50. 5 A

—0—

M_W

760

7é5 7%0
m=965,n FV0=0

54.5 A

54.0 A

53.5 -

53. 0 -

—— MW

965

970 975

51.

51.

50.

50.

49.

53.

53.

52.

52.

51.

51.

m=630, FV0=0

—— MW

630

655 6&0
m=810,m FV0=0

—— MW

810

815 820

53.

52.

52.

51.

54.

53.

53.

52.

52.

51.

m=660, FV0=0

—0—

MW

T
660

665 6;0
m=855,n FV0=0

—o— MW

T
855

T
860 865
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P3-13

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:10 288 150.0 2. 888 B {Ri&e07:10 Bz (REERSE)
07:45 288 150.0 2.888 BE| {Ri&e07:45 B (REAEHE)
08:20 288 150.0 2. 888 BE| 1Ri%e08:20 B (KRF{EREE)
08:55 288 150.0 2.888 BE| {Ri&e08:55 B (REAEEE)
09:30 288 150.0 2.888 RS {Ri%@09:30 B (REAEHE)
10:05 288 150.0 2. 888 e Ri8@10:05 Bz (REAERSE)
10:40 288 150.0 2.888 el Rige10:40 Bal (REAEESE)
11:15 288 150.0 2.888 el Rige11:15 Bz (REAERSE)
11:55 288 150.0 2. 888 B Rige11:55 Bz (REAERSE)
12:40 288 150.0 2. 888 Bl Rige12:40 Bal (REAEESE)
13:20 288 150.0 2.888 | Ri%@13:20 Bz (REAERESE)
13:55 288 150.0 2.888 BS| 1Ri%e13:55 Bz (GREMEESE)
14:35 288 150.0 2.888 s {Rige14:35 Bal (REEESE)
15:15 288 150.0 2.888 el Rige15:15 Ba) (REAEHSE)
15:55 288 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:40 288 150.0 2. 888 BE| 1Ri%e16:40 Bz (RF{EREE)
21t] 4608.0 (167%) 2400.0 3233 %EC: 2080.0, PH: 5.6

TERRHER 2 STEIELRT (187.0 :

ZRIAEBRIERE141.0 ml.

[B&EC 5750.0 K&, EiXF{KECAE&HikER
H#EIHECE (1780.0 vs 5750.0) 5

141.0), AlEEHT—R L XA HS




FRV (ml plant-1)

P3-13_0, Day=65 (2025-06—04)

R S it et talad
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3179

2400 397
. 2218
100 967

1700 619 - 2000

- 3000

50 7 L 1000

Warning: lcol [FVI',| "FVO’'] missing 80

(¢
200 -
150 A
100 A

50 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @D67 02:00: ET=1879 Fg=2400.0 Ro=508. 0

- 3000
300 -

200 - - 2000

- 1000

ET (ml/hr/plant)

100 A

”_---__-75-

®
L

F= _—
3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23
W | % | W | W | & | % | W5 | W5 | W& | PR | W | W5 | W& | PR | W | W5 | W& | & | B | M | M | 4000

D
ALE 0

408: 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 6 17 18 19 20 21 22 23
| & | % | % | m | m | m | | | | | % | % | mE | 7 | w5 | & [ W | & | B | B | B | BB | M | a0
300

_ 1
ByWoFv pD67 02:00: ET=1967 Fg=2400.0 Roiffeyﬂ\\\\\

200 - !

|

|

100 - |

1

’re
p — © : e @
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
W | % | ® | | W | W | w5 | ® | | W | W | 5 | BA | W | W5 | W | W [ Ba | W | W | W | W [ W

408

—_
N

i

™
T0H

i

ByEt @D65 19:06: ET=2223 Fg=2448.0 Ro=n

300 -

200 - - 2000

100 4 - 1000

ET (ml/hr/plant)

- 2000

\ - 1000

ET (ml/hr/plant)

E3
0.84 M8

0.6

0.4+

0.2~

—_— 4
[ ] | _obs

1500 —@— PPFD_obs

1000 A

500 A

RH
604+ @ RH_obs
[ ) RHo_obs

40

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



37.

36.

36.

36.

36.

35.

32 A

660 860 1600
m=580,n FV0=0

00 -

75 -

—0— ME

580 5é5 560
m=715,n FV0=0

37.6 -

37. 4 -

37.2 A

37.0 -

36. 8

1T —e— MmE

i

715 7é0 755
m=855,m FV0=0

38. 0 -

37.8

37.6

37. 4 -

37.2

37.0 -

-o— M_E

i
i
?

855 860 865

m=465, FV0=0

34.04 —O—

33.5 A

33.0 A

32.5 -

475
m=615,n FV0=0

37.4 4

37.2 -

37.0 -

36. 8

36. 6

36. 4

36. 2

—0—

625
m=745,n FV0=0

37.8 -

37.6 A

37. 4 -

37. 2 -

37.0 A

36. 8

745

755
m=885,n FV0=0

38. 2 A

38.0 A

37.8 -

37.6 A

37. 4 -

37. 2 -

——

885

895

m=500, FVO0=0
—e— ME
35.5
35.0
34.5
34.0
T T T
500 505 510
m=650,m FV0=0
347 o e v—o\.)\.
37.2
37.0
36.8
36.6
36. 4
o
T T T
650 655 660
m=780,m FV0=0
BT o g
37.8
37.6
37.4
37.2
37.0
36.8
780 785 790
m=920,m FV0=0
—e— ME
38. 25 -
38.00 -
37.75 -
37. 50 -
37. 25 -

920 925 930

36.

36.

36.

36.

35.

35.

35.

37.

37.

37.

36.

36.

36.

38.

37.

37.

37.

37.

37.

38.

38.

38.

37.

37.

37.

m=535, FV0=0

75 1

50

25 H

00 -

75 -

50

25 A

——

T
545

m=685,m FV0=0

50

25 -

00 A

75 A

50 -

25 -

T
695

m=820,m FV0=0

—o—

820

830

m=959,m FV0=0

—O—

955

965




38.

38.

38.

38.

37.

52.

52.

51.

51.

50.

50.

53.

53.

52.

52.

54.

54.

53.

53.

52.

m=990, FV0=0 m=1035, FVO0=0
6 1 - ME —— ME
38. 6 -
4 -
38. 4 -
2 -
38.2 -
01 38.0 -
8 37.8 1
T T T T T T
990 995 1000 1035 1040 1045
m=500,m FV0=0 m=535,m FV0=0
: | —— | —o— MW
U 52.5 -
5 -
52.0 -
0 -
51.5 -
5 -
0- 51.0 -
T T T T T T
500 505 510 535 540 545
m=650,m FV0=0 m=685,m FV0=0
51 —e— mw —o— MW
54.0 -
01 53.5 -
5 4 53.0 -
0 52.5 -
, T T 52 0 T T T
650 655 660 685 690 695
m=780,m FV0=0 m=820,m FV0=0
5 54.5
—o— MW —— MW
0 - 54.0 -
5 - 53. 5 -
01 53.0 -
57 52.5
780 785 790 820 825 830

53

93.

52.

52.

51.

51.

54.

54.

53.

53.

52.

54.

53.

53.

52.

54

53

52

51 A

50 A

49 ~

48 -

M_Ww

T

T T
800 1000

m=580,m FV0=0

T
600

.94

—— MW

il

5é5 5é0
m=715,n FV0=0

—o— MW

7

7é0 755
m=855,n FV0=0

-— MW

it

855 860 865

53.

53.

52.

52.

51.

54.

54.

53.

53.

52.

54.

53.

53.

52.

m=465, FV0=0
—— MW
51 -
50 -
49
465 470 475
m=615,m FV0=0
—o— MW
5 -
0 -
5 -
0 -
5 -
615 620 625
m=745,m FV0=0
5
—— MW
0 -
5 -
0 -
5 -
745 750 755
m=885,m FV0=0
0- —o— MW
5 -
0 -
5 -

885 890 895




m=920, FV0=0
54.5 - MW
54.0 -
53.5 A
53. 0 -
52.5 A
T T T
920 925 930

m=935, FV0=0

—— MW
54.0 A
53.5 -
53. 0 -
T T T
955 960 965

m=990, FV0=0
—— MW
54.0
53.5
53.0
T T T
990 995 1000

m=1035, FV0=0
—— MW
54.0 -
53.5 -
53.0 A
T T T
1035 1040 1045
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P3-13

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:50 300 150.0 2.888 B 1Rige07:50 Fzh (REEEE)
08:25 300 150.0 2. 888 BE| 1Ri%e08:25 Fzh (KL
09:00 300 150.0 2. 888 BE| 1Ri%e09:00 Fx (REEEE)
09:35 300 150.0 2.888 B 1Ri%e09:35 Fzh (REEESE)
10:10 300 150.0 2.888 S| 1Ri%@10:10 F3h (REEZRSE)
10:45 300 150.0 2. 888 BE| {Ri&@10:45 Fr (REEESE)
11:20 300 150.0 2.888 B 1Rige11:20 Fzh (REERESE)
12:00 300 150.0 2.888 S| Rige12:00 Fz (REAEHE)
12:45 300 150.0 2. 888 S| Rige12:45 Fr (REEESE)
13:20 300 150.0 2.888 el Rige13:20 Fz (REAEHE)
14:00 300 150.0 2.888 RS Rige14:00 Fz (REAEHE)
14:40 300 150.0 2. 888 BE| 1Ri%e14:40 Fzh GGRFEAERESE)
15:25 300 150.0 2.888 el Rige15:25 Fz (REAEHE)
16:05 300 150.0 2.888 BE| Rige16:05 Fz (REAEHE)
16:50 300 150.0 2. 888 BE| 1Ri%e16:50 F3zh (RF{ERE)
24t | 4500.0 (15%%) 2250.0 3 WH%EC: 2080.0, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAEBRERE139. 0 ml.

[E;%EC 6530.0 K5, EiFHAKECAE & hikER
FHERECE (1860. 0 vs 6530.0) 15

139.0), FIEEHT—@E XA HS




FRV (ml plant-1)

P3-13_0, Day=64 (2025-06-03)

150 Fm———=—F——————F——————F——————F-—————F——————F-—————F-—————F——————f-—————F-—————f——————] i
VI V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3000

2100 2218

1997 616 1700 67289 2000
50 - 1000
40 ) .
Warning: lcol [FVI',| "FVO’'] missing 64
0 - -0

( o ) —— ME H3g

100 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

I
Bylnit D67 02:01: ET=1723 Fg=1950.0 Ro=254.0 3000
300 A

= % S - 2000

200

100_ _1000

ET (ml/hr/plant)

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 | 20 | 21 22 23
200 % | % | | | | | | | m | m | m | m | m | m | m | m | m | m|m|m|m|m]®

T I
ByEt @D64 19:05: ET=2091 Fg=1676.0 Ro=naﬁ///\\\\ !

200 - — —~—y ®
100 . 1 11 [

P = —————
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
5 5 5 i 5 5 5 i 5 5 G A B 5 5 i B 5 G A 5 G A

D67 02:01: ET=1869 Fg=2250.0 Ro=f89/@\\\

3000

L
,——-r’/ﬂl// I
= g 2
f5

—& 4 9 - 2000
® ® ®

- 1000

ET (ml/hr/plant)

300

B
ByWoF e o o
yiorv —& 4  J - 2000

200

/
A10111

100_ _1000

ET (ml/hr/plant)

R e

1 | 2 | 3| 4[5 [ 6 7 [ 8 9 [10[ 11 [12]13]14]15 ] 16 [ 17 | 18 | 19 [ 20 | 21 | 22 | 23
is [ B | m5 [ fE | o5 [ f5 | 5 [ A5 | 5 | h5 [ W5 [ A5 | 5 | M5 [ ”E | B [ ”E | W5 [ A5 | B5 [ A5 | B85 | 5

1.0 =%
[

0.8

0.6

0.4+

0.2~

0.0
2000 4

—_— 4
[ ] | _obs

1500 ~ —@— PPFD_obs

1000

500 ~

80 -

. M
[

—— RH

404 @ RH_obs

[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



T T
600 800

400
m=605,m FV0=0
——
36. 5
36. 0
35.5
T T T
605 610 615
m=780,m FV0=0
——
37.0 -
36. 5
36. 0
780 785 790
m=975,m FV0=0
37.50
37. 25 A
37.00 A
36. 75
36. 50
36. 25
975 980 985

m=440, FV0=0

34.5 -

34.0 -

33.5 4

33.0 A

32.5 A

440

T T
445 450

m=650,m FV0=0

37.0 A

36.5 -

36. 0

——

T T
655 660

m=830,m FV0=0

37.0 -

36. 5

36. 0

830

835 840

54 -

53 A

52 -

51

50

49 -

400

600 800

36.0

35.5 -

35.0

37.0 A

36. 5

36. 0

37.

37.

37.

36.

36.

36.

36.

m=485, FV0=0

T T
490 495

50 A

25 -

00 A

75

50 -

25 A

00 -

52

51 1

50 -

49

m=695,n FV0=0
760 765
m=875,n FV0=0
8é0 8é5
m=440,n FV0=0
4&5 450

m=530, FV0=0

36. 50 A

36. 25

36. 00

35. 75 A

35. 50

35. 25 A

—&— M_E

550 5%5 5é0
m=735,n FV0=0

37.0 -

36. 5 -

36. 0

735 7&0 7&5
m=930,n FV0=0

37.5 4

37.0 A

36. 5

36. 0

950 9é5 9&0
m=485,n FV0=0

53.5 A

53.0 A

52.5 -

52.0 -

51.5 -

51.0 -

-o— MW

485 490 495




52.

52.

51.

51.

50.

50.

53.

53.

52.

52.

51.

51.

53.

53.

52.

52.

51.

m=590, FV0=0

—0—

M_W

550

T T
555 560

m=735,m FV0=0

—— MW

735

T T
740 745

m=930,m FV0=0

—0—

M_W

930

935 940

51.

51.

50.

50.

49.

49.

53.

53.

52.

52.

51.

51.

54.

53.

53.

52.

52.

m=605, FV0=0

—0—

M_W

605

T T
610 615

m=780,m FV0=0

—o— MW

780

T T
785 790

m=975,m FV0=0

—— MW

975

980 985

52.

51.

51.

50.

50.

49.

53.

53.

52.

52.

51.

51.

m=650, FV0=0

—o—

M_W

650

6%5 6é0
m=830,n FV0=0

—0—

M_W

830

T
835 840

m=695, FV0=0

52.5 -

52.0 A

51.5 4

51.0 -

50. 5 A

50.0 A

—0—

M_w

T
695

T T
700 705

m=875,m FV0=0

54.0 4

53.5 A

53.0 A

52.5 4

52.0 A

51.5 4

—0—

M_W

T
875

880 885
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P3-13

FriE) | EBIATK (FD) | ERE (EH/4) | BEBREE (B/R) [XS R

08:00 288 150.0 2.888 BE| {RRi%@08:00 Fz (RFEAERHEE)
08:35 288 150.0 2. 888 BE| {Ri8e08:35 Fz (REAERHE)
09:10 288 150.0 2.888 RSl Ri&e09:10 Fz (REERHE)
09:45 288 150.0 2.888 BE| {Ri8009:45 Fz (REAEHE)
10:20 288 150.0 2. 888 e Ri8@10:20 Fzn (REAEHSE)
10:55 288 150.0 2.888 el {Ri&e10:55 Fz (REEHE)
11:30 288 150.0 2.888 el Rige11:30 Fz (REAEHE)
12:25 288 150.0 2. 888 B Rige12:25 Fzy (REEHE)
13:05 288 150.0 2.888 |Z=| {Ri&e13:05 Fzi (KEAEHE)
13:40 288 150.0 2.888 |Z=| 1BRig013:40 Fzh (KAEESE)
14:20 288 150.0 2.888 |Z=| {Rige14:20 Fz1 (KREEZHE)
15:05 288 150.0 2.888 |Z=| {Ri&e15:05 Fz (KEAEHE)
15:50 288 150.0 2.888 [Z=| 1Ri&e15:50 Fzh (REEEE)
16:40 288 150.0 2.888 |Z=| {Ri%e16:40 Fz1 (KREEZEHE)
21t 4032.0 (14)%) 2100.0 32#KEC: 2080.0, PH: 5.7

TERRHLER 2 STEIEART (195.0 :

ZRIAEBRIERL144.0 ml.

[B/REC 7567.0 K&, HEiUARECRE A IMIKER
HEEIHECE (1907.0 vs 7567.0) IS

144.0), FlEEHT—R % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

2000 < _

P3-13_0, Day=63 (2025-06-02)

150 A

100 A

50

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing

300 -

200 -

100 A

ok o

]
Bylnit [@D67 02:01: ET=1504 Fg=1650.0 Ro=260.0

LTI

e

2706 - 3000

- 2000

T2 L 1000

31 40
40 Warning: lcol [FVI',| "FVO’'] missing

i 3000

- 2000

- 1000

e = |

0 1 2 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 - i
ByEt @D63 19:20: ET=1720 Fg=2002.0 Ro=né2///\\\ | &—8—8 | 200

200 A
/

100 A

ok v -

M 2725 |2 |2 (2| 5 | B [BF | B5 | R | BF | 5 | RS | BE | f5 | RE | BE | fs [ HE | S | R [ A | HR

y’

o

1
1
1
1 - 1000
i
1

T
[ =]
o
o
o

——
0 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 -

200 -

100 A

1.0 F—H

2|27\ |%| 5 | B | B5 | A5 | A5 | MR | R |ZR|SE|(ZE|$5| B | B ([ B (B [ B
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